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And there is a contradiction; - INIMR O R2T PP 3T PR TR
These receive lashes, one who has relations with his sister

Overview

The X7n3 poses a contradiction between our 71wn which states that there is an
obligation to pay 01p if one forced himself on his sister, and the 71w» in M2» which
states that one who has relations with his sister receives mp?n. There is an
established rule that one does not receive lashes and also pays money, so why is
the 1R Hv X2 pay 03P and also receives mpon. Our mwn (regarding 01p) mentions
first the ©1p 2vn for namnn v Xan (before MmNk v Xan). The mawn in Mon also
includes naman 9¥ X2 among the P15, Our ModIN explains why the contradiction
was from 1NN, but not from NANA.

Moo responds to an anticipated difficulty:
= 1999917 2811 1N PHINNT NYIIN

The X1 could have asked this contradiction from the X@9 of our W here -
- N9y YPYT 2NP BN VIP NY W NIMIND YY NAN NPT

Which teaches that by naranm By 827 she receives 21p, and there in n>» noon

the mwn» teaches that one receives Mpo» if he is nmna v X3, so there is the same

contradiction, how can he be liable for both since the rule is 27wn1 7P7 WK -
= ONNT PHINNT XYM 799909 HMNN DY NAN TY NIN 90 NON

However the 1) waited here until we cite "R v 827 (from the later part of

our 73wn) in order to ask from the X9 of the mawn there in non 'on -
= 35595 %3N N3 OV 1PV JPIND 239NT

For there in non the 8% %21 (like n1n) are taught after the NN 9297 (like

INNR DY R27) -
1IN YY NAN 1Y “NIvnn Yo NXaANY TN 1M

So therefore if the X3 would want to ask from our Xw™ regarding a namn, it
would have been necessary to cite the entire maw» (from "1 \mnX v 827) until
NIRRT YY K2, therefore for the sake of brevity the Xn3 poses the contradiction from v X7

!' Tt would seem more proper that we ask the question from the very first instance where we have a contradiction
between the two nawn (which is the case of namna Yy Ran, which is written in the very beginning of our miwn),
instead of waiting till \n1X ¥ 8273 which is written later..
2 See ‘Thinking it over’ # 1.
3 The mawn there reads (1IR? 2°1) 2X7w°% 191 nAman 1271 3"A0% 739K ,(MIN°I2 °20) 121 100K %Y 837 1127 17 19X, There
is no N> 21 for NN ¥ X3, however there is a N12 21°0 for NINR 5¥ X271,
4 See ‘Thinking it over # 2.
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MR (which is later in our mwn) so we would only be required to cite the beginning of the mwn
in M2 which states \minx %y Xa7.

Summary
Brevity takes priority over proper order.

Thinking it over

1. Mmoo writes, AR DY X7 7Y X7 03 X7X;° which gives the impression that the
X3 previously discussed the earlier cases of the mwn like H¥1 121 nmnn v Xan
anown, but did not ask the contradiction, but now that we reached 10X %y X237 we
ask the question. However the &723 did not really discuss specifically any of these
cases, so why does Mo write X377 7 017!

2 MoDIN writes NITARA HY R TV mwng 93 X029 78 1.6 Why is this so; the xx
could have cited narnn B¥ 121 X277 PPI9A 171781 without mentioning 191 \0INR?

5 See footnote # 2.
6 See footnote # 4.
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